
Division par Puissances de Dix (F)Trouvez chaque quotient.
25 ÷ 10⁻² = 55 ÷ 10⁻¹ =
80 ÷ 10⁻¹ = 40 ÷ 10⁻¹ =
13 ÷ 10⁻² = 68 ÷ 10⁻³ =
87 ÷ 10⁻² = 35 ÷ 10⁻¹ =
67 ÷ 10⁻¹ = 5 ÷ 10⁻³ =
75 ÷ 10⁻² = 59 ÷ 10⁻³ =
100 ÷ 10⁻³ = 55 ÷ 10⁻² =
55 ÷ 10⁻¹ = 43 ÷ 10⁻² =
4 ÷ 10⁻² = 11 ÷ 10⁻² =
44 ÷ 10⁻³ = 64 ÷ 10⁻¹ =
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Division par Puissances de Dix (F) SolutionsTrouvez chaque quotient.
55 ÷ 10⁻¹ = 550

80 ÷ 10⁻¹ = 800 40 ÷ 10⁻¹ = 400

35 ÷ 10⁻¹ = 350
67 ÷ 10⁻¹ = 670

55 ÷ 10⁻¹ = 550
4 ÷ 10⁻² = 400

64 ÷ 10⁻¹ = 640
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25 ÷ 10⁻² = 2 500

13 ÷ 10⁻² = 1 300 68 ÷ 10⁻³ = 68 000
87 ÷ 10⁻² = 8 700

5 ÷ 10⁻³ = 5 000
75 ÷ 10⁻² = 7 500 59 ÷ 10⁻³ = 59 000
100 ÷ 10⁻³ = 100 000 55 ÷ 10⁻² = 5 500

43 ÷ 10⁻² = 4 300
11 ÷ 10⁻² = 1 100

44 ÷ 10⁻³ = 44 000


